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TOPIK ADVANCED LEVEL GRAMMAR

~Cevt A

~L /=7t 4Lt is used to express a supposition (‘I think it might...", “It seems like...", ‘I
wonder if..."). It uses the ~/=7} form to indicate that it's a self-directed question. It can
be used interchangeably with ~(2)2 7t MLt ()2 ZACH

det & A7 A oA HRo ULt

—

[ went to the hospital because I thought it might be a serious illness.
HotH & 20[2te U =71 A oM A5 HtH o]

[ called because I wondered if something had happened to you so I was worried.

A=

This is a similar to ~A| or ~=5&, but the goal in the first clause is slightly more

emphasized. So it can be understood as “In order for do " The first clause
can have either a descriptive or an active verb, but the second clause can only use an
active verb.

=40 945 AlE 17|E O &fAICH

Let's buy more meat so that we'll have enough food.

Hdd2 250 ZotsS = A AT AZAZ 712N F QUL

Our professor explained everything slowly and carefully so that everyone would
understand.

-717H o & © A=

This is used to express that the state of something is so extraordinary or excessive that
it cannot be conveyed in words. “0O| & H|" comes from the verb O| 2L} (to tell), and can
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be understood as g O Literally it means “it is so ___ that you can't describe it." It is
used only with a descriptive verb.

note: the 7} is often dropped.

= B2t Lt Ok 7[(7} O S o SiCt.

A famous actor’s death is so sad that it can't be described.

d& &&0717H 0| & Ol Ble AE0IAN K.

He's incredibly meticulous.

Hx SH A AMES0| HF BOtA FH|7| 0|F | 8ITt

It was the cherry blossom festival and there were so many people that it was
indescribably crowded.

Y

This is a shortened form of ~XHX S}L|(77}), and can be used interchangeably with
~(2)2{ 1L St (7).

It expresses that the subject has an intention to do something in the first clause, but
then an unexpected result occurs, or something is discovered that obstructs the
subject’s original intention.

HM3tE SHX|L| A[ZH0] 2 =RA0{ 8.
[ was about to call her, but then realized it was too late.
QHM RE= NSEAIL| ZIEO| Cf LS.

[ meant to pretend I didn't know, but [ began to sweat profusely.

Jhars| 7|cha| mek AR, o7t EbM EX3| £ J|CHaCH

I'd intended to just wait, but I got anxious so [ couldn't wait at all anymore.

2A gEE X7 QJUXH A2 FA 2 H2H0] HLf

™ o™

She's been looking after an empty house by herself, but every once and awhile she
has scary thoughts.
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O| A& HE[XtH orZ D A'd AL AFFHAFU|

It would be a shame to just throw this away, but it'd be a burden to keep it.

~v/&7} 54

This expresses that while something in the first clause is true, something in the second
clause that is related to the first clause but contrary/unexpected is also true. It uses

~L /=7t from the interrogative form and adds ~SFH (if you) to create an expression

that can be understood as “If you were to ask me if __is true, [I'd say that] __ is [also]
true.” That's incredibly awkward though, so it's easier to remember it as “Not only
[clause 1] but also [clause 2]" with two contrary clauses.

This structure is often used with words like “E" and “O|X|&" to stress the contrast.

eg) AL 0T 2T E= ALEO| A=7t ofH 3T = AF"EE U

Not only are there people who only put sugar in their coffee, there are also people
who only use cream. [If you ask me “Are there people who only put sugar in their
coffee?”, there's actually also people who only use cream]

A= 82217t ot 7t==0] 7| = StLf

He is not only an actor, he is also a singer.

~ Z]
2 X| A
This is described as being similar to 2 78, with the same two meanings. However, this

structure is slightly stronger.

I. The first meaning can be understood as “Even though..” or “Although..”. The first
clause is (usually) a negative thing, and the second clause is a positive thing. You can

think of it as interchangeable with *.. 1 H0| = &35t "

2=AUE, =27tsoHA| Bt

Even though it's difficult, it's not impossible.
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2. The second is like saying “I'd rather .. than ..".

SSA|AE 2LSHA] BE=Ct

I'd rather die than fail.

For more example sentences, see the ~2 &H post.

~ 1 [HI }\] :'L_,_
This one was tricky. Thanks to everyone on lang-8 who helped explain this!

The meanings can be separated into two types, but they are both similar. The first
clause in the sentence reports what a person intends to do or says they are going to
do, and the second clause shows the contrasting truth of events. It can be used like

~LCHHAM or ~L Lt SFHA, but the speaker is always disapproving or dissatisfied
about the result in the second clause. It seems kind of sarcastic.

M2 ZHEFAI LD LEZEM =73 RUCE
He said he was going go to the library, but then he just played outside.

This sentence has two possible meanings. He either really intended to go to the library
but then he couldn't so he just played outside (maybe the library was closed?), or he

was pretending to be planning to go to the library. So it could mean both “&=A{Z+0f|

7t ook HX|ITE &2 ZECE or “EA 20| 2F MSHHA OF 2Tk
Let's look at some other examples:

7F Het €8 EotEEAIL L 29HE =0 EUAEL S0 SA UL

He said he'd help with the household chores, but then he shrunk my sweater in the
wash.

A= WEo E=0A Lot Ho{siA L2
Q0= OFFAE SFOHA| ERAOIR.

She wants to work in Japan next year so she said she'll study Japanese diligently, but
she didn't study anything but the alphabet.

uju

L T —
Eo| SFEeHE AL Lol
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~HA|AL

This grammar structure can also be used with descriptive verbs. In this case, you don't
put include the L before ETA|1 (eg. G| EA|LD ZEA|D)

A great example of how to use this grammar structure with descriptive verbs was
provided by mingu on lang-8. Thanks!

A
LESHEAID (S50 (A BA] o] X StLHE X FL?

A: I'm smart so I'm good at math.

B: Then try to solve this problem. It's not that difficult.

A: I can't solve that..

B: You say you'Te smart but you can't solve this one problem?

So again, it highlights the contrast between what is claimed is true and what occurs in
reality, with disapproval.

S

This one isn't listed on the TOPIK grammar test but goes along with ~EFA|Ct Think of it

as ‘It was called a __, but___ " Again, a tone of sarcasm/disapproval.

He A= SO EALD Oj= M S oM Zots AL?

You call that English but would you say it in front of Americans?
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SO[EA|LL 2of 2L LIoHH = Eer Sl= M R HE0IU0 R,
[ won something they called an award but it was just a few books that are of no use
to me.

The first clause explains the reason or the basis for the event or action in the second
clause. Similar to ~L|77t. Usually used for past tense.

Of ef= H2= Ol LIOHM Lt
hi

[ took this medicine so now I feel better.

M7t 80| TS5 Lo E30| LIULE

—

Z
It was really cold outside, so the river froze over.

When used as ~&2% it can be used interchangeably with -2 L|7}, so the first clause

describes an event or an action that led to a realization in the second clause.

ago 7S 2E A0 Z2tEA HEPM U

When [ went back to my hometown, [ saw that everything had completed changed.

2. /9 = for a noun.

The easiest way to think of this one is as a literary equivalent of the topic marker

o —
=/=.

At Qls O HA| 2X[= As UL,

To tell you the truth, I forgot to mail the letter.

-7 ol A olth
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This use of ¥ is completely different than 2 Y7 because in this case it is a
dependent noun (2|ZEFA}). It follows “~Z|0|", “~L|(77})", or “~O{ A" to signify that the

preceding phrase was a good thing or a relief, and is followed by an explanation of
what would have happened if the first clause had not occurred. So it can be
understood as similar to saying .. CFE0|CF A= X| RUCHH | It's usually written as
=710 BEO[X|."

EotFE AMEIO| ARUVIO| HHOIX| 2 & & Ao,
It was a good thing that someone was there to help, otherwise there would have been
a serious problem

S| AHE 2HA7I0| FYO[X| O Mgs & 210 X|LHE ML

Thankfully we were driving slowly, or else we would have passed the restaurant
without seeing it.

~ o u}A]
= 58
There are two meanings to this grammar structure.

1) The first shows acknowledgement of the truth of the first phrase, but then contrasts it
with the seemingly opposite fact in the second phrase. It can be translated as “Even
though”, “it's true that.. but..”. It is often used with the adverb “H|&" (although).

4= B o238 2 2917]= Stk

— o=

It's true that she's pretty, but she's difficult to work with.

Li7F LIO|l= HEYE Ot&2 F&E0[0f

Even though I'm old, I'm young at heart.

2. It can also be used to illustrate the speaker's determination to not do the action
described in the second clause. It can be translated as “Even if 1., [ wouldn't..” or “I'd

rather .. than .".

L7t =0 S8 3 A" =32 £ 2L
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I'd rather starve to death than accept his help.

Lf7h D et 2l ChAl= 0 A S2ESHA] &2,

Even if I was suffering, I wouldn't ask him for a favour again.

Note: There is no space between 2 and ¥’ because it's a word ending and not a

separate noun.

e

~ChA[ ]

This is a word ending that can be translated as “As you can..” or “As you..". It's used
with the verbs YLt 2L} and =L

SCOHAID L= & KW A0,

As you can see, I'm doing well.

L= SERAID) H FA o 2 8o,

As you know, I have no interest in economics.

=CHAT] O] 27| = 5Z0| F O LtL}

— o=

As you can hear, the music quality of these speakers is excellent.

OfAICHA|L], 22 & =2[dte S0l 1.
a

=
As you know [hon.] we are in the middle of fixing up our house.
~CrA| | ShCt

”

This is a different word ending that means “practically”, “almost”, or ‘nearly

d= ATFE0AM ACEA|D] UL
He practically lived in his lab.
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O 22 Y o2 MELQIX|E HCA|L| st}

He eats a sandwich for lunch nearly every day.

FEHO| o BN 2R} At2FCEAIT] HE

My parents were always busy so I practically raised myself.

~=/& JrH wRst

Means that the phrase that precedes it could not possibly happen.

DR SICHs root is PHE (B #E) which is formed by 2H (&) - M&] and 2 (#) - 2ICt So it
means M8 QIC} Since 2| (3) means a reason for something, you can translate it

literally as “there is absolutely no reason to/for ___"

Can be used interchangeably with 2/& 2|(7}H §iCt.

Note: This is a descriptive verb so the ending is SFCF not $HCf

auzt 338 s He 2 TESHE

She would never do such a thing.

e Mar=a 2o AR T7F M8l = 2 2HEoHE

He apologized, but there's no way his girlfriend would ever forgive him.

ZHSK| YYUOL| FS HLE We 2| PRt

You didn't study, so there's no way you'll get a good mark.

-2/ g

E{ is a bound noun, which is a noun that is tied to another part of the sentence
(another example of a bound noun is the counter 7§ which cannot exist without a

number before it). It can be tricky because it has a lot of different meanings. It can
describe a supposition, a plan, or a situation.
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You can see “E{O|C}" as the root of a lot of grammar structures, such as ElG| (E{0]
204|) and HIL|77F (E{0] + L|7}). ®IH| is used for a supposition. E|L| 7} is used either

interchangeably with ®HIH| as a supposition, or to describe the speaker’s plan.

eg) 12 H2 HF &= HIH AY0|M THE|S SHA.

His house would probably be too cramped, so let's have the party at a restaurant.

eg) AP ®= HIL7F7HEE L0 £

I'm going to take a photo, so don't move.

In the case of ~E 2}, the meaning of H is different than EIH| or E|L|7t. In this case, H
is used to describe circumstances or a situation. Add ~2HA{) to the end of B to make
E{2}A{, in which the A] is omitted and leaves E{2f. This a grammar structure in which

the circumstances described in the first clause are the reason or cause of the action or
situation in the second clause.

Note: On the TOPIK advanced grammar list this is listed as /= E2f. However it is

more commonly used in the past tense, and in that case it can be written as either
QK/UE Hel or 2/= Hef

eq. EfOlE MFE FR2HSI &7 AT EHet A5 dES AFSHE A0 &=UACE

He'd been living with his parents all his life, so living on his own was difficult.

s = JEi7t B2 FA| EUE Heb=HE X UL

[ wasn't feeling very well today so I couldn't do my homework.

Of

A 7|7t T Hep =20 84S

A|ztoll 2of x|iCk
ood in an instant.

r
MH>

—h

Al
Since I was starving, I devoured the

Last note: ~E{ 0| has the same meaning.

[ lied, REALLY last note: Don't forget to put a space between the previous word and the
H in any of these grammar structures,
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AR H S HEIL7E 7E2E U0f Ef (X)

AP S HIL7E 7E2E U0 B (O)

V233t

Means even if you do something, you won't get the result you want. Can be used like
Of/OFEtAt or ~=Ctn si=.

note: It's RA} not SH AL

eg. Xlg 328 Of7[& otHAt F& 280] ULtR?

Even if you say that now, what's the use?

°f2 O 2XA =2 OAE ef= 7t oF gLt

Even if you take the medication, if you drink alcohol the medication won't be effective.

AES

This is similar to saying “If something happens..” or “Since this has happened..” and is
followed by a suggestion, promise, or command. It can be thought of as 2t<F0j|~ (2)H

or Bretol~- HE.

HEE= AEHOAHSE & E0{FX| OHM K.

If it's someone you don't know, don't open the door.

o0l LAIASE 1 2E20 & 7HOF i,
If you come to Korea, you definitely have to go to that museum.
Ao EHEE o o AR

Since you passed the exam, I'll buy you lunch.

N = &w|go}

Page | 12 www.topikguide.com




TOPIK Advanced Level Grammar

Yet another grammar form that means “on account of” or “due to".. Just in case you've
run out of unique ways to say ‘because” that will make Korean speakers tell you
youTe using them wrong but be unable to explain why.

o] #32o|= 0|0 AtLZE HOf Kt

The accident occurred because of her carelessness.

Ol d= FE=2 0| F0F LA[X] AL}
My mother couldn't come because of the snowstorm.
7|2 Ho|gof stwof 7HX| ULt

[ couldn't go to school due to my cold.

Vis

‘Granted that..", "Even though..". KGF.com says this is "often followed by a rhetorical
question'.

SHA|ZH @X| 25 AA F& 2L0l2k

But even if he doesn't come, what's the big deal?

OfF 2| =0| 2= d¥s &

|0

HFE 280 A0 K

No matter how much money you have, if you lose your health, what's the use?

YN Fots e 2= stulof s Ho o 2

It's a school holiday now, even if you went to school, what would you do?

Ve 43t

Interchangeable with “2 Zd Z L} Means ‘it seems like it will", ‘I guess that it will

ofi= 50| 0|2 YA TP

Which team looks like it will win?
a7t 2 94X Lt
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It looks like he won't show up.

1 ofoj= 3A & g+ith

It seems like he will go far.

Vot A2 Holt

This is the same as ~7| OF&EO|Ct So it means ‘“it's bound to.." or “it's certain that.”
For verbs: =#0|C} (eg. BH= HO|C}). For adjectives: (2 HO|LCt (eg. EE2 |=.0|EH
L7t S5 A% 2 Ho|x

The more you get your hopes up, the more you'll be disappointed.

M 450l E2 =d2 & Eile Bolda.
qua

Inexpensive, good quality products are certain to sell well.
MESH Aasis go|ct

If you go fast youTe certain to make a mistake.

Ve vs v AEY

The difference between these two structures has always confused me. My TOPIK
textbook attempts to explain the difference, so I'm going to go by their explanation!

vV EHY
- The subject is usually not in first person’.
- Used with a verb or an adjective.

- First clause, even when in past, does not use past tense.
I. Highlights the difference between two contrasting phrases.

At A=0e =0 B2 2F LEL| O|#i0= EO| 2U4|K.

It hardly snowed at all last winter, but this year it's snowed a lot
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2. The result (second clause) of someone else doing something (first clause). The subject

of first and second clauses are the same.
Rl Fols FEL 0|8 T OpEe.

Last week it was cold, but this week has been warm.

Lf sd=2 ==

SIEL| Al20| YAshRCH

=
My dongsaeng went swimming, so he had a huge appetite.
vV b/RACL] -

The subject is usually first person.
- Used only with a verb, not an adjective.

I. Used when you realize or notice something (second clause) after doing something
(first clause).

Eg_HDI_I-OIH _TI_'<;5>|=O-|| Z)I(EIL'l M2 20 | I:|:|OI'| AR
When I visited my hometown, a lot had changed.

2. The result (second clause) of doing something (first clause).

Xl &= EO| OtMEL 2= HE|7f Ot R,
['ve got a headache because I drank a lot yesterday.
3 W7 SF& o3| EL GHO0| SFLL

Since I studied hard, my grade went up.

‘The Korean Grammatical Forms site says that Koreans sometimes break the “no first
person on V G L|" rule.

Ve gol ity

Interchangeable with V 2 2|7} QICt and V 2 2| BH23}ICt Means “there is no reason

that..”, “it is not possible that.”, etc.
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Note: this is sometimes misspelled by Koreans as V. 2 Ef0| QICt but the correct version
is &,

a7 x2e] €55 & "ol Bl
h

=
There's no way he would know what's been going on recently.

a8 0| 21q9| Otg0 = Ho| §lCt

There's no way she would like something like that.

0 ARO| 1 %2 92 Eo| gict

It's not possible that he'll forget his promise.

O7F X2 E® M2 Eo| 9ot

1H A=

There's no way he wrote that letter himself.

NZ sto=

Marks the object of a causative construction. Used when someone forces, encourages,
makes, or lets another person do something else.

d=2 M52 5t0g a4 280 FHS=E XA
The coach ordered the players to participate in winter training.

2 otolg &2 & X7|A et

They made him keep his promise.

12 ot0lg CHA| oHH S 27 SEAL

Let's let him try again.

OfZI0| 2 otolg 222 ZF5HA ot

Let the child make her own decision.

Vilke
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1. The first meaning seems to be very similar to ~¢] =/~ #%. Means “Even
though---”, or “and yet --”, when the result of the first phrase is not what you
expected.

Aol 27 R gloyzt Bk NS S-S Bk 1 A Urke 27} gols] Aozt
wo| i,

There are more accidents in the evening because there’s hardly any cars out, so
drivers are more likely to drive through intersections even though they see the
red traffic light.

TS AR A T A5 vk

You can live happily even without owning that.

2. Can also be used like ~7] % 3}l to list two (sometimes contrasting)
descriptive verbs.

AQLE oF 5T AAXE THRLTE
[ met a girl who was cute and yet beautiful at the same time.

3. Can be used to emphasize a descriptive verb.

a7 AR B8 o 1 AS A
He hid it somewhere very very high up.

N = VAY S

This is used to mean “not only (N) but also:*-”, or “besides (N)--:” or “as well as
(N)-".

It seems like % is usually added to the noun, but not always!
Present Tense

W)= U2 AU o), HigtE i

Not only is it raining, it's also windy.
w7t EAY 9 o] At
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I'm not only clever, I'm also strong.

== gAY 55 itk

Not only do I have no money, I don’t have the time.

Past Tense
Y= AAAYE}, doll = ghx] kT

The portions were small, but besides that it also wasn't to my taste.

Future Tense

S HIAAA Y 9F ol A EE aEg wotof skl

Not only will it be expensive, [ also will have to have it shipped all the way from
Bangkok.

(O)2 213} /Q13]/21 3 A

Exact same meaning as W 9, only difference is that W 9l is a beginner
grammar while (&)= ¢13]A] is an intermediate grammar.

AE A% 2 R Bophe AR AsA 1 e vhAsm 9ol 4.

I was preparing a farewell party for a friend that is returning back to Korea.

AN-()v /= 7MEN (2 2)

Because of (7] wZ9])

-2l AA] "o] At ghe) o7 Zhgte] 71w AT

We were so happy in view of the fact that Chelsea won last night.
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=71 H&olth

It depends on...ing; depending on how one does it

AFREE Abgh UEol 4 BRTE U 51 oby .

Of course, everything depends on the individual, not all people are bad;
A i A7)t 3] e

Being loved depends on the effort you put in

-(2)= A
(o)= #x =
If you consider what with doing, whenever, if

This ending attaches to action verbs, and signifies that whenever one
contemplates or supposes undertaking some action, the contents of the following
clause come about. It is usually used in cases when one contemplates things which
one has experience numerous times.

A =07te Auizl el e w o) 717 eH L.

Even at times when the baby was playing just fine, whenever its mother went to
go outside, it would cry.

2% g R4S FebW B s} edeng,

Lately whenever I get ready to clean up outside, it rains.

=\

ol

O odAE Ut E e BEeE

Ik

Sl et \= i R

Mo

Whenever I get around to showing my interest in him, he does something stupid.

=7]9l kA

Before, in advance
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ZEAEe] A& ER A 507t A EXE ST
Engineers surveyed the land before starting to build the highway.

- 31X (0F)—-3LA]
(Does) and then; and then (next); doing and then

It tightens the relationship between the preceding and following clause, implying
they are naturally closely linked. Occasionally the second clause oppose,
contradicts or gainsays the preceding clause (only when the preceding clause uses
an action verb). It can take '-+' and '-%=' auxiliaries for heightened effect.

Q& o} s B wolopd &

Of course, once one has done all the work, one should be paid.

-4}k only after having done; only in case one has first done.
AARE 5 10d AW aLMoF AES A e

They say he didn't marry (again) until ten years after the death of his wife.

1T
- v
Under/given the circumstance that...; while

It sets the scene for the event or situation in the following clause, and tends to
imply a ridiculous or lamentable contrast between the two clauses.

RRE Q5 npgo] Uk o HAY?
Since when is 1t OK for you to goof around when everybody else is working.
W7 AN E D whge] T wle]?

Who am [ to trust when I don't even trust myself?

A 2 A = sk vl Abgabs o WA =2 y?

How can you go tooling around in a car when we can hardly eat properly?
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o_/= =
=/E HESL

Irrespective of, regardless of

EH A e FE &St Apabeit

Anyone who trespasses will be shot dead.

/= Alo]t}

Accounting (for); judgment based on appearances, to all appearances/indications,
that one might call...; intention, idea, expectation; for all practical purposes.

It is used to express the speaker's conjecture about or evaluation of a fact or
event, but can also be used to express, for convenience's sake, a presumption
about an event even when she knows it not to factually be so.

B Yol e AAle RS Alo]),

I guess (I can assume that) that student is studying harder than you.

HdEel= e &4 & Addoh

I'm thinking of moving house sometime next year.

-8 2328 Adoly, oWl g% o By A1y}

Next week is exams; [ guess this semester is all but over.

-(L)€n=

I had hoped that...but; it should have...but; I wish that...but; I would presume
that...but; the expectation is that...but
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ol oherks o) we R

[ would presume he is not a deaf—-mute, so why doesn't he say anything?

weo] Qodn Qg TEA 5 ko],

I would have expected him to have some judgment, but he screwed everything
up.

~5]

(concessive) although (even though) it does-is; does—is and indeed (does-is);
(literary) and| | Ending is incompatible with '-%' and '-A'. Two major usages:

1) Used to introduce some fact by way of serving as a lead—in or intro to a related
but more detailed exposition in the following clause.

vhEe =25 12 AA B3 foke.

The wind is blowing, but not all that strongly.
%& Folsls) AF vhA 7l ghoba.

[ do like to drink, but [ don't drink often.

Ae AE e 4 % A,

Apparently he sleeps, but not very deeply.

2) The ending concedes or allows the contents of the preceding clause, while the
second clause places some restriction on those contents. It often contains an
imperative.

ol e sty 235k mRA L. TIt's OK to work — just don't overdo it.

rlo

28 npA) g A 3] mlA A L. Tt's OK to drink - just do so in moderation.
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-(o)= oy
Not only... but (also); moreover; furthermore; as well as, besides; in addition| | It
is synonymous with ¥ (3) o}y g},

T dolg Wy e Bojw v

He speaks not only English but also French.

=/= A

Let alone NOUN (not even; to say nothing of NOUN: far from (being); to say nothing of; let
alone;on the contrary;not only;not only not contrary to expectation;instead of
(something desirable that one might expect)

WAY % % wed

He can't even have juk, let alone real food.

4 HE Wk

Let alone an award, he got punished.

— ul= / u ‘]
Y gFE/9EX
In so far as, in as much as, given that; seeing as

The pattern expresses the idea that the results present in the second clause
come about due to the contents of the first clause.

Rub A AR oUnkE o Qe 95 dumA AR Aok,
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Give how good-looking their parents are, the daughters in that family are bound
to be pretty.

7]

Seeing as what important guests they are, be extra careful.

=)
T

dEolY W ZhEsl 24 e,

A3be] Fukahwie AR RE AEeof 8 2.

Given our time constraints, we have to get a move on right away.

~o 23t}

Unable to do V1, V2 happened

BOEE U 5o e T

Being unable to remain a mere spectator, [ stopped their fighting.

-(2)= = V-9{(c}, o)A

Do/be as much as possible.

oA v IR ol 2H7E AT <k el

This book is as worn out as worn out can be; you can’'t even read the letters.

-(2)=4

With, by means of, using; because of, due to; in accordance with
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The particle combines with nouns or nominalize (=) action verbs to express an
instrument or means.

B3] Fomm ke & e 5 glof

One can lay a good foundation through conscientious work.

G FHo@A ol g2 oA 5 glofa

We can overcome out difficulties by combining forces.
APomM Ao 5 olH L oF%.

I intend to broaden my experience through travel.

—= vpojof
If/since (as long as) one is to do
AFE E& vhojof, o} =71 glo] ZolTA Al S

As long as/if you're going to help a friend, you should/might as well do so
unconditionally.

O} A I WA S ol of o W Lo] ALz

If you're not going to have any treatment, what is the point of being in a
hospital?

=]

A= A& HholloF 3 BIA Al %]of BAQ

If you are going to make a house, make a beautiful one.

L UeA)

As a result of, from an excess of, driven by.
EUR TR A BRo] m

I got so excited that I was at a loss for words.
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7] Qzolth
7]
Is always doing (something unpleasant); makes a habit of doing

The pattern can be paraphrased as A5 12 A St} or 'Z18 A st= 37} o}
2} and refers to a not entirely desirable action that occurs frequently.

o ofo] & AT} ol 7|7t Adolnt.
Little kids frequently fall down when walking.
W7k 9Tk AW W o] AR a1 2] 7] 7 Qo] o,

It is quite common for people to leave their umbrellas on buses

T ] —
/= AR
Supposes, assumes, grants (that); tells oneself that; pretends to oneself that

The pattern is used when the speaker wishes to (usually arbitrarily) rationalize or
justify an event or course of action.| | F52& H&™ Z}2]Q1H], AF2] o] gl A X A&

AshE A 1A F87] =2 glo s,

I told myself I would take time to study for the university entrance exams again,
and decided to drop out of school for a year.

AES ot e AXA BF- o] 8 F7]Z ol
Pretending [ was forgoing my salary, I decided to help out the less fortunate.

Ao & AT EL Fol Flola

Assuming [ was being cheated by my friend, I lent him the money.

= el

It is just/only that
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5535 2w 2 gl
All I'm doing is going about my own business quietly.
T A Y whg ol

He 1s a mere student. or He is nothing but a student.

-</2 Wol|/golt}

A (= #=7) is a situation—something 'happening' or 'going down'—a state of
affairs, and usually a somewhat less—than—satisfactory or high-class one. Thus,
this pattern means is ‘somewhat shabby or embarrassing situation where ...’

TOARES 9 YBrY wel 2T FUA WY Bolt
The buildings are crumbling from years of neglect.

Vet Wehd gl 2.5,
What else could you do when the country was coming to ruin.

= =7} ik

Be above/beyond, There is no question of..
0] HATS AT A7} girk.

There i1s no question about his sincerity.
I AGE Y o] NEE X7} glnt

There's no way the region can be developed anymore.

R

Only, just, barely, no more than, at (the) most, All of something
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o
s
o
il

o
-
o
ol
rir
Py
o
=

o]},
It is all I can do to feed my children.
W7t & = o= gule A Zeto| 7k arto|th

A fried egg i1s just about the only thing I can cook.

-2 XA o|t}
Is on the verge of [something undesirable]; is about to [suffer something]

This expression is often preceded by a verb of hardship, such as 37|38}t

#elA Y, S}, &), Aol AT, or Wol At

Aol YT o] 2$] & x| 7ol gk,
The exam was so difficult that [ almost cried.
@A 22 d 77 o]t}

[ am so tired that I'm about to collapse.

(@)
L/ o]At
Once something is done---.

It can mean that the preceding clause is a fact that makes the following clause
something that’s naturally expected or supposed thing to happen.

Hl 7] & & o], =2ke wj7bx] yE 4= §loj g
Now that you've boarded the airplane, you can’t get out until you arrive.
ojn] FA MR E g o], o)A HAT = glo] 8.

= L= s

Since we've already made a public announcement, we can’t cancel it now.
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N/V+ 7] 2t}

There are no limits to, No end to.., Really
There are no bounds [limits] to man's greed.
Abgre] S41e 1A gl

ARl A2 A 37 A LA

The scene of the accident was totally gruesome [appalling].

-L 2 (2)

Modifier —-(2.)v + postmodifier Z: just as it is or did, (in) the original state of ..

Wl gy aopAle @ A W
the bus took off in the state of being nearly empty

WA £ B e A gk,

Grasping my hand tightly, Mr. Yang whispered.

-4 (L)

Tsk-tsk pattern in plain base + —tY (originally abbreviated from an indirect
quotation in —t}aL &Y)To think that ...!, Just imagine!, Can you believe it?, Who
would have thought that?, What a shame to think that ... Note that this ending
only appears on the Plain Base of verbs.

$ BAE B BTy

what a shame that (she) doesn't dress well ...

o] W AbgEo] Aol o] FohE nel HelErh.

To think that this many people would line up to see this film.
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vI7F aFaL A& o] 1A thy?

Is that all you have to say?

)
- =(9])

AN
Like, as, giving the appearance of ...; appearing (to be), looking (like); seeming
as if; as if/though. This pattern is often 'flagged' in front by the adverb 7}%|
which serves as a sort of warning to the speaker that a like/as if pattern in >©]
or —(&)v/-&= AA™ is coming up.
He 1s absolutely crazy about her
I+ J9E "ol Agsio)
He lives as if he were a millionaire.

T Mgl Fo g@sta vk

L /< SHH

- meanwhile

o
st
AN

Qre Y Fuehs @9, 922 AFL F0)E 3 At

Japan 1s dispatching rescuers and is ready to provide aid.

- 2}

Just at the juncture when one had been ...—ing

W42 skl 2o
Just when all had concluded that he was as good as dead..
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